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First Quarter 

1.	What is the name for the line perpendicular to the directrix and passing through the focus of a parabola?
		Ans.	Axis (or line of symmetry)

2.	Since the cell membrane is highly selective relative to the substances that can cross its boundary, it is described as being what?  We're looking for a six-syllable word.
		Ans.	Semipermeable

3.	Find sin pi/2.
		Ans.	1

4.	What is the meaning of the French expression tout de suite [“TOOT”-”sweet”]?
		Ans.	Immediately

5.	What 17th century poetic sequel begins, “I, who ere while the happy garden sung, by one man’s disobedience lost …”?
		Ans.	Paradise Regained

6.	A certain polygon has more than one right angle.  Therefore, we know that it is not what kind of polygon?
		Ans.	Triangle

7.	What is the exact meaning of the words mardi gras?
		Ans.	Fat Tuesday

8.	Eritrea is located on the part of East Africa known as what?
		Ans.	The Horn

9.         Its current chairman is Daniel Inouye [IN-oo-way].  Name this Senate committee that writes the bills that allocate funds to government agencies.
 		Ans. Appropriations Committee

10.	Which philosopher of the Enlightenment helped shape the U.S. Constitution with his Two Treatises?
		Ans.	John Locke

11.	Kublai Khan's summer capital was Shangtu.  What did Coleridge call it in his poem “Kubla Khan”?
		Ans.	Xanadu

12.	Which function is not defined: secant of 0 degrees, cotangent of 90 degrees, sine of 270 degrees, cosecant of 180 degrees?
		Ans.	Cosecant of 180

13.	Looking westward over the ocean from the Washington coast, you can still see part of the Sun for a couple of minutes after it has actually dropped below the horizon. What characteristic of light explains this phenomenon?
		Ans.	Refraction

14.	The Bessemer converter decarbonizes molten iron with a blast of cold air to produce low-cost steel.  In this device, the oxygen in the air combines with carbon in the iron and dissipates in the form of what gas?
		Ans.	Carbon dioxide

15.	Napoleon III ruled France as president from 1848 to 1852.  He abdicated as emperor in 1871.  Which war ended his reign?
		Ans.	Franco-Prussian War

16.	What type of locomotive structure is found in protists classified as euglenoids?
		Ans.	Flagella

17.	Name the most famous Confederate general killed by “friendly fire” during the Civil War.
		Ans.	Stonewall Jackson

18.	At which temperature on the Kelvin scale does water boil?
		Ans.	373

19.	What do many experts feel kept Mickey Mantle from being the greatest player in Major League history?
		Ans.	Injuries (Accept alcoholism, didn't take care of himself.)

20.	College enrollment reached an alltime high in 1946, as veterans returned with the help of what?
		Ans.	G.I. Bill


Second Quarter (Toss-up Questions)

21.	Math Computation.   The fulcrum of an 8-foot lever is placed so that it is 2 feet from one end and 6 feet from the other.  Force is applied to the 6-foot end.  What is the mechanical advantage of this machine?
		Ans.	3

22.	What gland has been elegantly referred to as the “conductor” of the endocrine orchestra?
		Ans.	Pituitary gland

23.	What puncutation mark should be used before an author's name at the end of a quotation?
		Ans.	Dash

24.	Light will be reflected as a beam of parallel rays when a small source of light is placed at the focus of what conic section?
		Ans.	Parabola

25.	In architecture, what do you call the central wedge-shaped stone of an arch that locks the other stones together?
		Ans.	Keystone

26.	What is the antonym for the musical term “crescendo?”
		Ans.	Decrescendo (diminuendo)

27.	Math Computation.   The vertex angle of an isosceles triangle measures 80 degrees.  Find the number of degrees in each base angle of the triangle.
		Ans.	50 degrees 

28.	The first America's Cup race took place in the English Channel.  Subsequent races have been held in the open oceans.  Which of the four oceans has never seen an America's Cup race?
		Ans.	Arctic Ocean

29.	Its shortcomings led to the development of the more accurate sextant.  What device was invented in the late 1400s and is used to measure the angles of the sun and stars above the horizon?
		Ans.	Astrolabe

30.       François Hollande defeated President Nicolas Sarkozy, becoming the first elected president of France of what political party since François Mitterrand?
                        Ans.	Socialist


Second Quarter (Bonus Questions)

 1. FINISH THE SENTENCE

(5) In 2006, the George H.W. Bush was launched as the tenth and last ship in the Nimitz class of …
     Ans. Aircraft carriers

(10) When World War I started, the Triple Alliance opposed the Triple …
     Ans. Entente

(15) Before Elizabeth II, Queen Victoria was the last British monarch to celebrate the anniversary known as a Golden …
     Ans. Jubilee

(20) The United States is responsible for the defense of the Federated States of …
     Ans. Micronesia


 2. TOLSTOY

(5) Name any one year in Tolstoy's life.
     Ans. 1828-1910

(10) Tolstoy was excommunicated from what church in 1901?
     Ans. Russian Orthodox

(15) Tolstoy's “Sevastopol Stories'' was an account of his experiences in what war?
     Ans. Crimean War

(20) In what decade did he write his masterpiece, WAR AND PEACE?
     Ans. 1860's


[bookmark: _GoBack]
 3. CHEMISTRY … At room temperature, ony four elements are ferromagnetic.     Ans. Iron, cobalt, gadolinium, nickel 


 4. VOCABULARY … Heteronyms are words that are spelled the same but have different sounds and meaning. Use a heteronym to complete each sentence (e.g., if I said, “When she saw the ------ in her new dress, a small ------ ran down her cheek”,  your answer would be: tear).

(5) The paramedic ------ the bandage tightly around the gaping ------ in the woman's leg.
     Ans. Wound

(10) At ------, the lawyer hopes to ------ his case before a jury.
     Ans. Present

(15) The customer was ------ with the ------ of the letter of apology.
     Ans. Content

(20) Although he was a war veteran and an ------, his request for subsidized rent was considered ------.
     Ans. Invalid

Sixty Seconds Round

COMPOSERS AND THEIR WORKS

              I'll name the composition and you name the composer.

           1. MILITARY POLONAISE
                         Ans. Chopin

           2. AN AMERICAN IN PARIS
                         Ans. Gershwin

           3. PEER GYNT
                         Ans. Grieg

           4. MADAME BUTTERFLY
                         Ans. Puccini

           5. PRELUDE TO THE AFTERNOON OF A FAUN
                         Ans. Debussy

           6. THE FLIGHT OF THE BUMBLEBEE
                         Ans. Rimsky-Korsakov

           7. CARNIVAL OF THE ANIMALS
                         Ans. Saint-Saens

           8. THE WASHINGTON POST MARCH
                         Ans. Sousa

9. PICTURES AT AN EXHIBITION
               	   Ans. Mussorgsky

          10. DER ROSENKAVALIER
                         Ans. Richard Strauss

EXTRA: THE PLANETS
               Ans. Holst


MEASUREMENT

Identify the quantity that each of these measures.

 1. Hertz 
                       Ans. Frequency

 2. Pascal 
                       Ans. Pressure

 3. Ampere 
                       Ans. Current

 4. Farad 
                       Ans. Capacitance

 5. Ohm
               Ans. Resistance

 6. Kelvin 
                       Ans. Temperature

 7. Henry 
                       Ans. Inductance

 8. Angstrom 
                       Ans. Distance

 9. Watt 
                       Ans. Power

10. Scoville scale
               Ans. Hotness of a chili pepper 

EXTRA: Mercalli
               Ans. Earthquake (damage)


BORDERS 

Given two countries, identify the country that they both border.

 1. Belgium and Italy
                       Ans. France

 2. Norway and Russia?
                       Ans. Finland

 3. Iran and India?
                       Ans. Pakistan

 4. Egypt and Kenya?
                       Ans. Sudan

 5. Guatemala and Mexico?
                       Ans. Belize

 6. Iran and Saudi Arabia?
                       Ans. Iraq 

 7. Ecuador and Peru?
                       Ans. Colombia

 8. Kazakhstan and Vietnam?
                       Ans. China

 9. Poland and Switzerland?
                       Ans. Germany

10. Mozambique and Namibia?
                       Ans. South Africa

EXTRA: Suriname and Argentina.
                       Ans. Brazil


Fourth Quarter 

31.	This synonym for “arranged” refers to documents designated as secret.  What's the word?
		Ans.	Classified

32.	Math Computation.   I have six white socks, six grey socks, and six gold socks in my dresser drawer.  In the dark, I randomly pull out two of the 18 socks.  What is the probability that they match?
		Ans.	5/17

33.	Put these three events in man's development in correct chronological order: development of fire, crude chopping tools, invention of the wheel.
		Ans.	Crude chopping tools, fire, wheel

34.	Name the two types of heat transfer that do not involve the movement of air.
		Ans.	Conduction, radiation

35.	What is the eight-letter word for a current that runs constantly toward the sea beneath a line of breakers?
		Ans.	Undertow

36.	What six-syllable word starting with R designates the now-disproved theory that human embryonic development retraces the evolutionary pathway?
		Ans. 	Recapitulation

37.	Which mid-south state is four times as wide from east to west as it is from north to south?
		Ans.	Tennessee

38.	Which New England state, then independent, abolished slavery in 1777?
		Ans.	Vermont

39.	Henry Wilson, one of America's most obscure Vice Presidents, was Vice President during the second term of what 19th century Republican President?
		Ans.	U.S. Grant

40.	Until 1908, Bulgaria was part of what empire?
		Ans.	Ottoman Empire

41.	What nine-letter word means agreement among the majority of a group?
		Ans.	Consensus

42.	The amphibious hero of “Wind in the Willows” lived on which continent?
		Ans.	North America

43.	How were the following collectively known to the ancient Greeks: Oceanus, Hyperion, Iapetus, Rhea, Mnemosyne, Phoebe, Tethys, Chronos?
		Ans.	Titans

44.	A vector is commonly represented by an arrow whose orientation shows the vector's  direction and whose length corresponds to the vector's what?
		Ans.	Magnitude

45.	Math Computation.   A caterer charges a setup fee of $50, and $18 per person.  How much will the caterer charge if 40 people attend the party, and the customer has a coupon for $100 off the total?
		Ans.	$670

46.	There are three grammatical moods in English.  When the subject of a sentence is not explicit but assumed to be “you,” what mood is usually involved?
		Ans.	Imperative mood

47.	Its geography is metaphysical, in that the land in the title refers to the chain of forced-labor camps stretching from the Bering to the Bosporus.  Name this eyewitness account by Alexander Solzhenitsyn.
		Ans.	The Gulag Archipelago

48.	In what type of cymbals do you clash the metal plates together with a pedal?
		Ans.	High hat

49.	“It was made by an Italian on behalf of the French for the purpose of welcomin' Irish immigrants into the Dutch city of New York.”  To what was O. Henry referring in this passage?
		Ans.	The Statue of Liberty

50.	Math Computation.   Consider a box 25 cm long, 15 cm wide, and 10 cm deep.  In liters, what is the volume of this box?
		Ans.	3.75


Extra Toss-Up Questions 

 1.	Wayne Gretzky played for four different teams in his NHL career.  Name any two of the cities.
		Ans.	Edmonton, Los Angeles, New York, St. Louis

 2.	The Aramaic word for “father” is the etymology for what word meaning the head of a monastery?
		Ans.	Abbot

 3.	Math Computation.   What positive integer is the product of the square root of 28 and the square root of 7?
		Ans.	14 

 4.	Andy Warhol made an eight-hour film of one façade of which New York City landmark?
		Ans.	Empire State Building

 5.	This country was the first to occupy Japan in the last thousand years.  Can you name it?
		Ans.	United States

 6.	Which European country, that had one of the greatest colonial empires, is telling its citizens to emigrate to former colonies of Macao, Angola, and Brazil, to find work?
  		Ans. 	Portugal

 7.	Among his quotations are “Art thou the king of the Jews?” and “What evil hath he done? I have found no cause of death in him: I will therefore chastise him, and let him go.”  Name this person from the Bible.
		Ans.	Pontius Pilate

 8.	During what century did construction begin in Paris on Notre Dame Cathedral, King Richard the Lionhearted was succeeded by King John I, and Thomas Becket was murdered at Canterbury?
		Ans.	12th


EXTRA BONUS


ECOLOGY

(5) What is the net change in a population density given this data: immigration = 50, mortality = 20, emigration = 30, natality = 10?
     Ans. +10

(10) Place these in food chain order beginning with a producer: vulture, wild turkey, grass, coyote, grasshopper
     Ans. Grass, grasshopper, wild turkey, coyote, vulture

(15) In the carbon cycle, what two substances are used by producers to build the organic compounds that make up their bodies?
     Ans. Carbon dioxide, water

(20) Just to the north of the tropic of Cancer and to the south of the tropic of Capricorn is a world-wide biome.  What kind of biome is it?
     Ans. Desert


EXTRA LIGHTNING ROUND

PERIODIC TABLE

Name the families or series that contain each of the following elements.

1. Cesium 
                       Ans. Alkali Metal

2. Chlorine 
                       Ans. Halogen

3. Barium 
                       Ans. Alkaline Earth Metal

4. Argon 
                       Ans. Noble Gas

5. Fluorine 
                       Ans. Halogen

6. Potassium 
                       Ans. Alkali Metal

7. Iodine 
                       Ans. Halogen

8. Cerium 
                       Ans. Lanthanide

9. Uranium 
                       Ans. Actinide

10. Radon 
                       Ans. Noble Gas

EXTRA: Gold
               Ans. Transition Element





